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Beforeanswering the questions, candidates should ensure that thetj have
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Note: Attempt five questions in all with at least one

question from each Section. Question No. 1 is
compulsory. All questions carry equal marks.

1. Answer the following:

(a) Define Big-ONotation. 3

(b) What is a priority queue? 2

(c) List three main applications of heap. 3

(d) Explain dynamic allocation. 4

(e) Differentiate between array and linked list. 4

(f) Explain Polish Notation. 4
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SECTION-A 7. (a) Write an algorithm for Depth First traversal of a
graph. Explain with an example. 10

(b) Explain the linked and matrix .representation of
graph. 10

'SECTION-D

2. (a) How do we design and develop an algorithm ?
Also explain the time and space complexity of an
algorithm. Illustrate with example. 12

(b) What is a data structure? How can we choose the
right data structure? 8

3. (a) What is stack ? Describe the array representation
of stack. Also discuss the applications of stack. 10

8. (a) What do you mean by file organization ? What
are different file access methods? Illustrate. 10

(b) What are sets ? What are list representations of
sets? Explain their importance. 10

(b) Write an algorithm to implement merge sort
technique and also compute the complexity of
algorithm. 10

SECTION-B

9. Explain the following:

(a) AVLTree 10

(b) Skip Lists 10
4. Explain the following:

(a) Array of pointers and pointer to an array

(b) Dynamic allocation

(c) Pointer variable with suitable example

5. What is linked list? Explain in detail about doubly
linked list and operations on doubly linked list with
example. 20

9

6

5

SECTION-C

6. What is binary tree? Explain its types and operations
performed on binary trees. Also discuss about
threaded binary trees. 20
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